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[Participant ID
Participant Name
Test Center Name iON Digital Zone iDZ Purnea
Test Date 20/01/2021
Test Time 10:30 AM - 12:00 PM
Subject NTPC
* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

U rafafem # & F7 @ g B (BRICS) Wi &1 Werd wE &7
Ans XK. gfdror anfre

K2 g

v 3 SreTeRT

< 4 g

Question ID : 9489113406
Option 11D : 94891113623
Option 2 1D : 94891113621
Option 31D : 94891113624
Option 4 1D : 94891113622
Status : Answered
Chosen Option: 3




W2 SR el g e Fy w1 gEIew E T F g 7

Ans

v a e

X2 Huk
X s gur

X 4. FIeTRTar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113408
94891113632
94891113629
94891113630
94891113631
Answered

1

Q3 agay 2020 % TITT FATHLT F HIAR, HRG F Tho AT AfeT TAT e 7§72

ans 1Y
X2 HATS
NI
< 4 ofer
Question ID : 9489113432
Option 11D : 94891113725
Option 2 1D : 94891113728
Option 31D : 94891113726
Option 4 1D : 94891113727
Status : Answered
Chosen Option : 3
Q4 T TR F B WFA F FET THE W A SfEAad e 9 (BPL) 9fiERt o vedeh
(LPG) faei=t afa frar smar 27
Ans X 1. HTISATA
X 2. ST WA WEIIAT FAEH
X 3 g TETEey e
W 4 3E=gel
Question ID : 9489113440
Option 1 ID : 94891113757
Option 2 ID : 94891113759
Option 31D : 94891113760
Option 4 ID : 94891113758
Status : Answered
Chosen Option : 4




Q.5

QUA AR HETET Hl ATH A5
X g5

Ans

X 2 TEIcaA T3A
v o G dr ATgdeT
K 4 TTSeE JHIE
Question ID : 9489113428
Option 11D : 94891113712
Option 2 ID : 94891113710
Option 31D : 94891113711
Option 4 ID : 94891113709
Status : Answered
Chosen Option: 3
Q.6
GWT+VONT—V9) & sTeT B
Ans o 1. 2
X2 —63
<3 16
X4 2
Question ID : 9489113247
Option 11D : 94891112986
Option 2 ID : 94891112988
Option 3 ID : 94891112987
Option 4 1D : 94891112985
Status : Answered
Chosen Option : 1
.7 N
V7w F vART BT I T TES SRAY 399E & A9 §a=0)
Ans (
. HEeE
X2 STTERT
X 3 e
F q-}'%uﬁ-
Question ID : 9489113430
Option 11D : 94891113719
Option 2 ID : 94891113717
Option 31D : 94891113720
Option 4 ID : 94891113718
Status : Answered

Chosen Option :

1




Q.8

Ans

TH vare e = wrl e & a0
V' TR ST FohaT

X 2 gl vsIw

X 3 FTE wsIT

X 4 T AR STAT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

9489113417

94891113668
94891113666
94891113665
94891113667

Status : Answered

Chosen Option :

1

Y RyeF FT GEY T FTE IcUEH 2 FiA TT 7

Ans

& 1. FeAEIT (Colombia)
X 2 TgaarE (Vietnam)
X 3. #RT (India)

V' 4 gT=rer (Brazil)

Question ID : 9489113424
Option 11D : 94891113694
Option 2 ID : 94891113695
Option 31D : 94891113693
Option 4 1D : 94891113696
Status : Answered
Chosen Option : 4
Q.10 ¢ ¢
g 1 fg F FuAr & gfauea s &
Ans 5 5

v 1. Fg=F Feerk (Johannes Kepler)

X 2. =T %1 (Roger Bacon)

X 3. ATFAH w4co (Isaac Newton)

X 4 FHfEET (Galileo)
Question ID : 9489113415
Option 11D : 94891113658
Option 2 ID : 94891113659
Option 3 ID : 94891113657
Option 4 ID : 94891113660

Status : Answered

Chosen Option :

1




Q.11

m+3m+5m+6m+9 3T m+12 F AT FT AT FIT g2

Ans X' 1. m+3
v2m+7
<3m+9
X4m+6
Question ID : 9489113272
Option 1 ID : 94891113085
Option 2 ID : 94891113087
Option 31D : 94891113088
Option 4 ID : 94891113086
Status : Answered
Chosen Option : 2
Q12 & o a1v e it et & creEs TRw Fva # Fe A §Y RER Y ae & 9% A
T ¥ B v 2 &, 3T aamT & R aw TSt § O FF § Fua #7 Jifee §9 T 9o
#?
FUA:
THEH 7e7, g == B
T FEUA, 7T E
st
A.FAET A, fod T ¥
B.Fo feaA, faw T B
C.3o fFa ww, 7= £
D.7AET 5T Te, 529 a = B
E.GATT 34, ge0AF ¢l
Ans
x<1.D, B
<2 A C
V3B, C
<4+ A E
Question ID : 9489113178
Option 11D : 94891112711
Option 2 ID : 94891112709
Option 31D : 94891112710
Option 4 ID : 94891112712
Status : Answered
Chosen Option: 3




Q.13 yweifen FHEe #1 T Sua AT H T3 8 TeAed F F BT 5@ 2015 F TR # @

ﬁﬂﬁﬁ?‘ﬂ'ﬂﬂfﬂﬁ&ﬁﬁmmg&ﬂﬁhmﬂﬂ
X geTaES ST AT
v 2 3Eer ST AT

Ans

X 3 ST GIET SAT AT
X 4 g S safa & e

Question ID : 9489113434
Option 11D : 94891113734
Option 2 ID : 94891113735
Option 31D : 94891113736
Option 4 1D : 94891113733
Status : Answered
Chosen Option : 2
Q.14
1+ tan15°cot 75° F TET 2
Al E :
s X 1 sin?15°
v 2 sec?15°
< 3 cos?15°
< 4 cosec?15°
Question ID : 9489113271
Option 11D : 94891113081
Option 2 1D : 94891113083
Option 31D : 94891113082
Option 4 1D : 94891113084
Status : Answered
Chosen Option : 2
.15 ;
15w A= (homo sapiens) reg fress gamr feam aar ar?
Ans : .
X 1. e (Miller)
v 2 @ ffFgw (C. Linnaeus)
X 3. gifda (Darwin)
X 4 S # (G. J. Mendal)
Question ID : 9489113413
Option 11D : 94891113650
Option 2 1D : 94891113652
Option 3 ID : 94891113649
Option 41D : 94891113651
Status : Answered
Chosen Option: 2




Q.16 ontfrss o & oo o 7 96 awet N 180 et F FT R F &9 57 THER RS FA L,
Tefr [eNfEat =7 Toai ST FAW TEAT 959 &1, S TR, T @ = g g # 9 grg &)
SIER o Hier I Wemear @ Hieas FEar Fadr gei?

as o112
<24
<36
X 16

Question ID : 9489113252
Option 11D : 94891113006
Option 2 1D : 94891113007
Option 31D : 94891113005
Option 4 1D : 94891113008
Status : Answered
Chosen Option : 1

Q17 mﬁgmgw.m%mﬂa-ﬁaﬁmmﬁ?

A o1 gETEe (Internet)
X 2 @A (Server)
X 3. THTTA (MAN)
< 4 wewusA (LAN)

Question ID : 9489113437
Option 11D : 94891113748
Option 21D : 94891113746
Option 31D : 94891113747
Option 4 ID : 94891113745
Status : Answered
Chosen Option : 1

" aow F0F (Guif Streams) @ TrEr § e §
e XK wFEY aE

X+ g

X 3 A

v o afFger

Question ID : 9489113426
Option 11D : 94891113703
Option 2 ID : 94891113701
Option 3 1D : 94891113702
Option 4 1D : 94891113704
Status : Answered
Chosen Option : 4




Q.19 Tl fafema g o1 & STUDFARM & FGHQSNEZ fram ST ¢, & 33 s  NUCLEAR & %8

r@r FAeT?
Ans 1. GSQUCNE
v 2 AHPYRNE
# 3 FLQYVNE
# 4 DKQTCNE
Question ID : 9489113175
Option 11D : 94891112700
Option 2 ID : 94891112698
Option 31D : 94891112699
Option 4 1D : 94891112697
Status : Answered
Chosen Option: 3
20 2020 # PrmfafEa # ¥ &Y T Rswor ¥ wEAfaa fRr
e X g W
X 2 gET Ore
r 0
V'3 e wAIEE
< 4 FET ARTIOT
Question ID : 9489113407
Option 11D : 94891113626
Option 2 ID : 94891113625
Option 31D : 94891113627
Option 4 1D : 94891113628
Status : Answered
Chosen Option : 3




¥ Credt F & € FiT O unor e FuAr & AR

FUA:

Tl rEwies, @ g

Fo aA, faewer @ §

FC THIA, 7 § g ea e 2
e XK el e, Rewes

v 2 $T I, Fad T g

X 3 7o 7, Arees

X+ Fo Arees, g g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489113180
94891112718
94891112720
94891112717
94891112719
Answered

2

%2 0.23 T

M X e e
v 2 of T "@Er
X 3 HTeT wET
X 4 TS "@E

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

9489113246
94891112982
94891112981
94891112984
94891112983
Answered

Chosen Option: 2




Q.23 vw Fwmm & wger 5% H FA H 8 A BT 5% Fr Iy A ) 9w IR 7w T @ete

MK g e T gfr wE
X< 2 25% Fr FAT
X5 0.25% #r IR

v 4 0.25% Fr wHr

Question ID : 9489113256
Option 11D : 94891113023
Option 2 ID : 94891113024
Option 3 ID : 94891113022
Option 4 ID : 94891113021
Status : Answered
Chosen Option : 4
Q.24 frw v FyEr W AR fifew d@R a7 ffeT & Gt § & o sigadh onon, Fua § B A e
o 9, &1 ¢
TAETT &, o g
Ans 3

X 1. $T O, o AR F g

X 2 Fo 9, o gl

X 3 FT &, UH g

v\ gEEF o, & 2
Question ID : 9489113198
Option 11D : 94891112792
Option 21D : 94891112790
Option 31D : 94891112789
Option 41D : 94891112791

Status : Answered
Chosen Option : 4




4% ZfEgr RaEEs (India Divided) T&s & or@s Sl &7

K0 =t T

v 2 TSeg 9EIE
X o grEa faE

K 4 Hepds TS

Question ID : 9489113421
Option 11D : 94891113684
Option 2 ID : 94891113682
Option 31D : 94891113683
Option 4 ID : 94891113681
Status : Answered
Chosen Option: 2
Q.26 R =1v famedt # ¥ 30 HeRFT TR F 907 Few A TeEaa@a 4ot F wT-fe= (2) F ww
T HT FeRaT &
2D, 31, 4P, ?
Ans  of 1. BY
< 2 BW
<3 5Z
& 4 BX
Question ID : 9489113184
Option 11D : 94891112735
Option 2 1D : 94891112734
Option 31D : 94891112736
Option 4 ID : 94891112733
Status : Answered
Chosen Option : 1
Q.27 3 "
= T SUHAT THY S2UHAT & Tohder 37 1€ FATT gar 87
as X1 5
X2 4
V33
X4 2
Question ID : 9489113250
Option 11D : 94891112999
Option 2 ID : 94891112997
Option 31D : 94891112998
Option 4 1D : 94891113000
Status : Answered
Chosen Option: 3




0% offrg e ITEATT IR G F Owe Fi 87
e XK. ey TgTeTa

X 2 gfre 9g TETeETT

< 3 fagary SR

v 4 TfasIIOT SgreTeIT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

9489113409
94891113636
94891113635
94891113633
94891113634
: Answered

|

P = ¥ P W osEew R A BT w9 o

Ans

X 1. Al (Malta)
X 2 JoreT (Valetta)
X 3 e (Crete)

v . TRTEeI (Sicily)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489113422

94891113685
94891113686
94891113688
94891113687
Not Answered

Q.30 ﬁ ﬁﬁ ﬁﬁﬁﬁm ﬁ f 5 H’@'%"’
Ans o1 x(x +1)+8=(x+2)(x—2)
X2m@2m+3)=m?+1
X (y—2)2+1=2y-3
X4 (m—-2)P=m*-4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113265
94891113058
94891113059
94891113057
94891113060
Answered

1




Ans

¥ 2 33 FT IOTABA 2T 2
v 3@ e

< 2 Faf-FelT oRAT FEar 3T Fef-al T 5=

K3 4 &F gqET
X< 4 of@T 5=

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option

19489113253
194891113010
194891113011
194891113012
194891113009
: Answered

01

Q32 Frafafga & @ #i9 @ sHEw awusT F9aney, R 9 (Asiatic Lions) @ H&ETE 22

Ans X 1. Shlegl
v @
< s aREw
X 4 grgaETe
Question ID : 9489113412
Option 11D : 94891113645
Option 2 ID : 94891113647
Option 31D : 94891113646
Option 4 ID : 94891113648
Status : Answered
Chosen Option : 2
Q.33 y g
16 3R 40 & I TN (third proportional) T gET?
Ans X110
< 2 640
v 3 100
<4 40
Question ID : 9489113254
Option 11D : 94891113014
Option 2 ID : 94891113016
Option 31D : 94891113013
Option 4 ID : 94891113015
Status : Answered
Chosen Option: 3




Q.34 400 m =& T &7 60 km/h FN T F A FT W@ E1 600 m T I F U F= T 58 e wew

FRET?

Ans o' 1.1 min
< 2 3 min
#< 3.2 min
< 4 4 min

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

9489113262
94891113048
94891113046
94891113047
94891113045
Answered

1

935 x = 53Ry = 29T 16x* + 25y2 — 40x%y & AT AT RTY

Ans 1. 9000

< 210000

v 3 8100

< 412100
Question ID : 9489113264
Option 11D : 94891113055
Option 2 ID : 94891113056
Option 3 1D : 94891113054
Option 4 1D : 94891113053

Status : Answered
Chosen Option : 3
Q.36 ws 9ET # F@T 1: 150000 F YA 9T FW AT AT F| F A 9T & a0Ed A AT B & = Hr
Zlr 6 cm B 4 gl & @ Fr aaEE g A Hirew
ans X115 km

<212 km

¥'3 9 km

< 4 6 km
Question ID : 9489113260
Option 11D : 94891113039
Option 2 ID : 94891113040
Option 3 1D : 94891113037
Option 4 1D : 94891113038

Status : Answered
Chosen Option : 3




Ans

W ofy mem = (3 FfeTw - FgEF)/p §, A p F AT FAT G

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113268
94891113071
94891113072
94891113070
94891113069
Answered

1

Q.38 (@_I_m)z T %I

Chosen Option :

e X ofdT T
v 2 3aidT gE
XK 3 qUT ®ET
X 4 UTehd HEAT
Question ID : 9489113249
Option 11D : 94891112995
Option 2 ID : 94891112996
Option 31D : 94891112993
Option 4 1D : 94891112994
Status : Answered
Chosen Option : 2
Q39 g gdefer Tl 3 SR e et @1 A SRR oT Sl & T
e 40%
X2 433
X3 44F
X 4 55
Question ID : 9489113429
Option 11D : 94891113713
Option 2 1D : 94891113714
Option 31D : 94891113715
Option 4 1D : 94891113716
Status : Answered

1




G40 e FOTUS (Taklamakan desert) & 2or & g &7

Ans 1 THA
X 2 g
X s 5T
v o e
Question ID : 9489113425
Option 11D : 94891113700
Option 2 ID : 94891113698
Option 31D : 94891113699
Option 4 ID : 94891113697
Status : Answered
Chosen Option : 4
W 7% el A ue T 9T W o W aegeR & IR R ar
Ans - o p
A 1. @ a9 (Laurie Baker)
X 2 #r FEfEAT (Le Courbusier)
v 5. vsfae ofes® (Edwin Lutyens)
X 4+ 3eac 29U (Albert Speer)
Question ID : 9489113410
Option 11D : 94891113638
Option 2 ID : 94891113637
Option 31D : 94891113639
Option 4 ID : 94891113640
Status : Answered
Chosen Option : 2
Q.42 . :
TUH H1S fawH yrepfas FEanst &1 Aty fFaar gem?
Ans X111
V28
<39
<410
Question ID : 9489113269
Option 1 ID : 94891113075
Option 2 ID : 94891113073
Option 31D : 94891113076
Option 4 ID : 94891113074
Status : Answered
Chosen Option : 2




Q43 frlr fffeT F 99T & STORMY #r ABFIDG Tram =mam ¥, & =3 smor & LOTUS #r & forar

FTTA?

Ans 1. CFBCA
< 2 KNSTR
# 3 NQVWU
X< 4 MPUVT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489113176
94891112703
94891112702
94891112704
94891112701
Answered

1

U4 3g w1 wES FT AT, e Fo SO ek 1944 an?® ¥2

Ans
<1972 cm3
v 2 5832 cm 3
<2 3888 cm 3
<4 729 cm 3
Question ID : 9489113267
Option 11D : 94891113068
Option 2 ID : 94891113065
Option 31D : 94891113067
Option 4 ID : 94891113066
Status : Answered
Chosen Option : 2
QA5 =g e 1 T BT AW A F W TER FT ¥ B IR @ 0w, T e
T wEET 2
A (Water) : 99 (Pump) :: T (Blood) : ?
Ans d .
<177 (Veins)
X 2. 919 (Wound)
& 3. eAfEAT (Arteries)
W ¢ BT (Heart)
Question ID : 9489113193
Option 11D : 94891112769
Option 2 ID : 94891112772
Option 31D : 94891112770
Option 4 ID : 94891112771
Status : Answered
Chosen Option : 3




Q46 o IRt i 97 T ¥ A FEW AT HfST, 5 83 ¥ Ui =T @
Ans X 1. 9936

< 2. 9954

< 3. 9966

v 4 9960

Question ID : 9489113244
Option 11D : 94891112973
Option 2 1D : 94891112976
Option 31D : 94891112974
Option 4 ID : 94891112975
Status : Answered
Chosen Option : 4

Q.47 swae ETE (Albert Einstein) #1 1921 # &1 T & ¥ o Biw Aée R wa1= far mar am?
Ans ?‘ﬁ- 3% h ﬁ

A2 groeTar & e

X 3 3reay gaTT

v o e ST 9

Question ID : 9489113414
Option 11D : 94891113654
Option 2 ID : 94891113653
Option 31D : 94891113656
Option 4 ID : 94891113655
Status : Answered
Chosen Option : 4

Q48 Crafafem # ¥ i O FEEH 41T § geE REET & Rerw ¥ geg 17

A X1 uaaRESTdT (NREGP)
v 2 Taftte Ig8=r (Golden Quadrilateral)

X 3. TAHRTETA (NRHM)
X 4 FFET (MNREGA)

Question ID : 9489113443

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891113772
94891113770
94891113771
94891113769
Answered

2




Q.49 10 F=t & AR & v BT & Hi@g AW F AT 104 g F ® F f O M T2 F, 7F W@ T H
FE A Tl BE NN 20 g FA @RI o7 3W FA A UF G & AG AET ST geme

s 1124 g
X2 200 g
<384g¢g
< 41240 g
Question ID : 9489113273
Option 11D : 94891113090
Option 2 1D : 94891113092
Option 31D : 94891113091
Option 41D : 94891113089
Status : Answered
Chosen Option: 2
Q.50 v ar FeEt oy A P i a7 HEw F & 7 P anon, Fuw F BRT 2
FYA:
Fo oA, T
Fo T, IR &
Tl dTel, e &
Ans 3 + s g
X 1. g FoE 9fEer g
v T FoA, 98 g
X o T TR Had 9 gl
X 4 mefr 9, T
Question ID : 9489113177
Option 11D : 94891112707
Option 21D : 94891112708
Option 31D : 94891112706
Option 4 ID : 94891112705
Status : Answered
Chosen Option : 2




Q31 3rEER 2020 TF WF FAAFN F HGER, qRET o IF F =R A

e 1 afdgea T
X2 TE:TI?:TIGIFI'
<3 3fTT e
x4 WfdE geAoaa

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489113439
94891113756
94891113753
94891113754
94891113755
Answered

1

Q52 |pL.2020 & TETRE W o ¥ BT SERRT § ¥ R e T v & 782

Ans X1 ¥ BfTEET (Kane Williamson)

v 2 %. T Tge (K L Rahul)
X 3. i@ e (Chris Gayle)
X 4 FF 9rens (Kieron Pollard)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

9489113405
94891113617
94891113619
94891113620
94891113618
Answered

2

Q.53 14 cm 3 7 cm Fr Tt TR @ THERF Ieat F AT B oo I HER T 8T FATET F

A FT F?

Ans X' 1. 245 cm?
< 2 98 cm?
V'3 462 cm?
X 4 147 cm?

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

1 9489113266
194891113064
194891113063
194891113062
194891113061
: Answered

3




Ans

v gl Teeg I
X2 HET Al &F
X3 g . ¥R HFEEHT
X 4 Y. =TTy

¥ agTar ¥ T aRa Hr o g ¥ aemaT HiF A2

v 2. fefewra ef8aas (Triticum Aestivum)
X 3. f3ar A5 (Zea Mays)

X 4+ gftrer FITEc (Brassica Campestris)

AT 'ﬂ{ FT IATqTaes ATH (Botanical name) T g2
e X1 Rfaesa I RBERAT (Hibiscus Rosa Sinensis)

Question ID : 9489113427
Option 11D : 94891113705
Option 2 1D : 94891113707
Option 31D : 94891113706
Option 41D : 94891113708
Status : Answered
Chosen Option : 1
Q55 AsRBTE a9 A Ao R T BN C 2 RA S ama R AFT £ T A
AT C =% 18 Gt & mEe = wea #1 A, B 3t C v T et 5w w1 & o =t F e
FT T &7
Ans 1. 8
X2 6
<39
< a7
Question ID : 9489113261
Option 11D : 94891113041
Option 2 ID : 94891113043
Option 3 1D : 94891113042
Option 4 ID : 94891113044
Status : Answered
Chosen Option : 1
Q.56

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489113411
94891113643
94891113642
94891113644
94891113641
Answered

Chosen Option: 2




Q57 afafRa § ¥ FF & VE3RVT F § 3 T o 9IRS 5Ew 5

"okl
5
X2 31
5
Vs 2 :
5
X4 4n
L
Question ID : 9489113248
Option 11D : 94891112989
Option 2 ID : 94891112991
Option 31D : 94891112990
Option 4 1D : 94891112992
Status : Answered
Chosen Option: 3
Q.58 :
AT TSEIT FEIH HT Tgell ATgell HEHET I ATH AT
Ans x 1 *ﬁ : ﬂ
X 2. el FeATea
v oo 98T
X 2 gufEET Ag
Question ID : 9489113419
Option 11D : 94891113673
Option 21D : 94891113676
Option 31D : 94891113674
Option 41D : 94891113675
Status : Answered
Chosen Option : 3
. 3 31 =TT b T W 32, 7
Q59 frer st & 21,600 #r ofr #r 15% a1 2,116 g See?
Ans o 1. 2
X2 3
<3 4
<41
Question ID : 9489113259
Option 11D : 94891113034
Option 2 ID : 94891113035
Option 31D : 94891113036
Option 4 1D : 94891113033
Status : Answered

Chosen Option :

1




Q.60 =fx 51 3iv 85 & FgcaH TAMESF (HCF) 51m-85 & & & g far smar ¥, af m &1 | a1

grem?

Ans ( 1.2
<21
X33
K45

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

9489113251

94891113002
94891113001
94891113003
94891113004
Not Answered

U Trfefe & & Fi9 @ SoeTe sa & o a7 W e ad@
Ans X1E%E|T|T
X 2 gAreRIiE

v 5 Figer

A4 O

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113441
94891113762
94891113764
94891113763
94891113761
Answered

3

Q.62 frmfafag #§ & FF T TOSAEHT (strait) JTAEF ALEER F TS FEEER § Sear £7
Ans X1 gTeh FeEHSHET (Palk Straits)

v 2. FATT FTSATHET (The Strait of Magellan)
X 3. AAFHT FASHTACT (The Strait of Malacca)

X 4 TS FISHEHET (The Strait of Dardenelles)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113423

94891113689
94891113690
94891113692
94891113691
Not Answered




¥ Srfla F ¥ Wl ar e e @ &2
Ans X1 R (Libre)

v 2 F=ETeH (Quantum)

X 3. seogdTE (WPS)

X 4 ATEFETE HTTHE 2010 (Microsoft Office 2010)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489113438
94891113752
94891113750
94891113751
94891113749
Answered

1

Q84 sieRiSEr e MTEUTA HEUTH F HEIE S awl # v 37

Ans

X 1. =gaieh (New York)

X< 2 9@ (Paris)

V'3 &\ §9" (Los Banos)
X 4 U7 (Rome)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113433
94891113732
94891113730
94891113729
94891113731
Answered

4




V& g A e P #2

ae K112
X210
<36
VLN
Question ID : 9489113183
Option 11D : 94891112732
Option 2 ID : 94891112731
Option 31D : 94891112729
Option 4 1D : 94891112730
Status : Answered
Chosen Option : 4
Q66 LM NOPQRINSwHERAFMAMERFIB S REWINITHP, NF
TE AN AT HNLF eE NS R OFgE s der g st O Ny e s s &1 o Q, S
FTE N ST E A M F I 3T FiF a7 &2
Ans « 1.1
X2 Q
<33R
Xap
Question ID : 9489113200
Option 11D : 94891112799
Option 2 ID : 94891112800
Option 3 1D : 94891112797
Option 4 1D : 94891112798
Status : Answered
Chosen Option: 1




Q.67 = ¥ fre vl Il # RifEAd w1 F BT 2007 F Ane oy R @ e R

or?
Ans «1,

T TERHET U WA FAEHC IS US M L (Inter Governmental Panel on Climate Change and

Al Gore)

X 2 AT (Greenpeace)
X 3. f@uw 1w (Sierra Club)

X 4

Jos d128 §8 BT 7= (World Wide Fund For Nature)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113435

94891113738
94891113737
94891113739
94891113740
Not Answered

Q.68 =T fawew fEw orw € oot @ & fordlr o¥e @ 9 ¥ il o ardea ¥ 50 faeew @ woe &i S

Ay fwredt & 3w 7
Ans xl vré
v'2 0,45
X3
# 4.0.120120012000........

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113245
94891112977
94891112980
94891112978
94891112979
Answered

1




Q.69 37 Fwes & T FIw A oY g F IE TR FAOT § OE TER gET o, TEw e # #etd

El

#fsr (Rhinoceros) : Zadia (Battle Tank) :: 2 (Shark) @ ?

e X1 A w # A (Yatch)
< 2 AT (Boat)

X 5. TEE FETT (Ship)
 « 9GeIgesT (Submarine)

Question ID : 9489113194
Option 11D : 94891112775
Option 2 ID : 94891112774
Option 31D : 94891112773
Option 41D : 94891112776
Status : Answered
Chosen Option : 3
Q70 37 g She-defes F AW sy, S AT G@T-EEg F A 5T g B
Ans ¢
& 1. FFgF 3K HSA (Johann Gregor Mendel)
X 2. 3ES ghot (Ernst Haeckel)
v s Tred sifas (Charles Darwin)
X 4 rer TfATE (Carl Linnaeus)
Question ID : 9489113416
Option 11D : 94891113662
Option 21D : 94891113663
Option 31D : 94891113661
Option 41D : 94891113664
Status : Not Answered
Chosen Option : --
Q.71 S=faf@a e (analogy) F wea-FEa (2) # 9fawnfa &7 g =9 98 &7 997 S
STYLE : 81 : ARRIVAL :: CRACK : 36 : ?
ans X 1. ROSE
v 2 RIDE
# 3. SMELL
< 4 STREAM
Question ID : 9489113195
Option 11D : 94891112777
Option 2 ID : 94891112778
Option 31D : 94891112780
Option 4 ID : 94891112779
Status : Answered

Chosen Option : 2




72 F $o Fua AR 3A TERE T v B am & fo o §

Horse are Cat - XYT
Cat is Blue - TMZ
Blue is Cloud - ZMS

for a7 Reremt 7 ¥, A= BT 71T FuT FT FIE F747 FET?

Blue Cat is Cloud - ?

Ans X1 XTSM
< 2 MZTS
<3 YTZM
v 4 ZTMS
Question ID : 9489113197
Option 11D : 94891112787
Option 2 ID : 94891112785
Option 31D : 94891112786
Option 4 ID : 94891112788
Status : Answered
Chosen Option : 4
Q.73 et & FiEw F 12 3% #fow g fFw) afy wE T qOie 200 F F 54% 3F 9 v, o Ag A
foraer 37 W fFw?
Ans x 1. 69 -
X2 46 3%
V'3 96 3w
X4 34 3
Question ID : 9489113255
Option 11D : 94891113018
Option 21D : 94891113019
Option 31D : 94891113017
Option 4 1D : 94891113020
Status : Answered
Chosen Option: 3




74 31EET 2020 FF T°H AFFLT F AR, AH F ToEqT P 2

Ans

X . gfaer BsafEw (Ranil Wickramsinghe)

X 2 gfger a=vet (Mahinda Rajapaksa)

2 TgrEaT US98 (Gotabaya Rajapaksa)

X 4. afgeRT W (Chandrika Kumaratunga)

Question ID : 9489113404
Option 11D : 94891113613
Option 2 ID : 94891113615
Option 31D : 94891113614
Option 4 ID : 94891113616
Status : Answered
Chosen Option : 3
.75 N %
O = & Y C e #r Refag s # ST I A 7
Ans
X . T8T T=T9 (Steve Rogers)
v 2 2T\ T (Dennis Ritchie)
X 3. JIaT FAcHT (Yashwant Kanetkar)
X 4 o1 i@ (Bill Gates)
Question ID : 9489113436
Option 11D : 94891113741
Option 2 ID : 94891113744
Option 31D : 94891113743
Option 4 ID : 94891113742
Status : Not Answered
Chosen Option : --
Q.76 =R frmT gFmr S RFT @ 3w 39 ol @ AW 9 g S A & F Aisg weme oet am
seatora Rfemor & dgee #1 seafy v & i R R e Rega-aehe a9 (EMF)
3eHS Bael FAGE & Ao ST FE?
Ans *
X1 T T
X 2 F@ER EET
X 3 g=EI AT
v g §=Y
Question ID : 9489113431
Option 11D : 94891113723
Option 2 ID : 94891113722
Option 3 ID : 94891113721
Option 4 ID : 94891113724
Status : Not Answered

Chosen Option :




Q77 iz FANRBI T A WFr SRR AN i wamee Cc, T iF
Fr 12 g F G 7 TEar ¢ 3f & @i g 3 A, B 3T C Fr v wiy @ oA, ar i

Ans

rael TAT H 9T STET?

X135 g
v 30 ge
X340 g
X427 g

Question ID : 9489113263
Option 11D : 94891113050
Option 2 ID : 94891113051
Option 31D : 94891113049
Option 41D : 94891113052
Status : Answered
Chosen Option: 2

7" srgreaT Al ¥ AT 3P F Wi @ 3R g e o

Ans

X 1. FAF gref (Common Weal)

X 2. FUFer ges (National Herald)

X s sfEs AfeTesEe (Indian Sociclogist)
v+ 53T NRATF (Indian Opinion)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113418
94891113670
94891113671
94891113672
94891113669
Answered

4

Q.79 segat 2020 5% 9T THEN F FIER, A (NIT) smaer & Fer FEw sfawd (CEO) #ia #2

Ans

?(1.TrT:ﬁ'=I'EE|TT
< 2 e qaerfsar
v 5 iy =
X 4. qrover Hge

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113442
94891113766
94891113768
94891113765
94891113767
Answered

3




Q.80 wfy 10 Foiar #1 57 qew 8 AT F ooy e & W &, A 7 W @A T ufea fraar gem?

Ans
K 1. 20% BTy
<2 25% @
Vs 25% wTeT
K4 20% omH
Question ID : 9489113258
Option 11D : 94891113031
Option 2 1D : 94891113029
Option 31D : 94891113032
Option 4 1D : 94891113030
Status : Answered
Chosen Option: 3
Q.81 ¢ s A .
TofeT § ¥ Fae g9y 9ET S99 TOH § 76 87
e K. frog e
X 3 a9 T
X 4 TIEAST FHHEERT
Question ID : 9489113420
Option 11D : 94891113678
Option 2 1D : 94891113680
Option 31D : 94891113679
Option 4 1D : 94891113677
Status : Answered
Chosen Option : 2




Q.82 faw = wu= (fFwyw AR FRO) B wEEE v d T wEita FEEe s9gE et & 9
EaiE |

whEw (A): 3, o & faew ae §
FROT (R): TPT TEcah0T & HUA AL A g

Ans XL
A 3% R 29 wew § W R, A 9 @ s 7@ ¥

X2 A 3t R gt srmer B
Vs A BT § Wg R 38T gl
X4 A 3R R SE m@ew § 3k R, A Fr T e g

Question ID : 9489113182
Option 11D : 94891112725
Option 2 ID : 94891112727
Option 31D : 94891112728
Option 4 ID : 94891112726
Status : Answered
Chosen Option : 4

83 afr A+B=90"3TsinA = 2 % @ tan B & AW FT g

Ans

Ko
v
X 3

X 4

o wlon wlds =

Question ID : 9489113270
Option 11D : 94891113079
Option 2 ID : 94891113078
Option 3 1D : 94891113080
Option 4 ID : 94891113077
Status : Answered
Chosen Option : 2




Q.84 faw w1v fammedt & & 3@ TEAT &1 TTA SIS S A & T arfermr # gee-REa (?) & T 9 A

Ans

Ferdr Bl

21 18 9

X126
X2 35
v 36
X424

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113199
94891112796
94891112795
94891112794
94891112793
Answered

3

Q.85 ofy T frer Fr TR & 10% Fr g S &, & 2279 1 sy R v #| Ao e Beaer 7

Ans

v 13310
X 2 3330
X 3. 3280
X 432300

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489113257
94891113026
94891113028
94891113027
94891113025
Answered

1




Q86 2y =1 oA F HgER, 113 Tl & el @1 AT o & FEA e ¥

E 3 Pass % of | No. of Failed
| Class| ‘Subjects Students Students
10" | Maths 65 105
|10 Hindi 80 120
; 1" English 40 360
12" | Psychology 75 100
. 12™ | Biology 50 110
Ans X1, 360
v 2 240
~< 3120
& 4 600
Question ID : 9489113189
Option 11D : 94891112754
Option 2 1D : 94891112756
Option 31D : 94891112755
Option 4 1D : 94891112753
Status : Answered
Chosen Option : 2
Q.87 & =& afemm & @, @l ot Rwat & @t wemst s 104, 119 3t 128 & el @ A
FF O & Fiowd fhaar 87
. £ Pass % of | No. of Failed
Gl Subjects Students Students
10" | Maths 65 105
| 10™ | Hindi 80 120
_11"™ | English 40 360
[ 12" [Psychology 75 100
12" | Biology 50 110
Ans X 1. 36.7
<2 3886
Vs 375
<4318
Question ID : 9489113190
Option 11D : 94891112759
Option 21D : 94891112758
Option 31D : 94891112757
Option 4 1D : 94891112760
Status : Answered
Chosen Option : 3




Q.88 & =1z afoer & sgan, @l o= Rwet F S Fwenst s 104, 119 s 124 et @ e B

o AT ST T AT G o & I e 37

10" | Maths 65 105
10" | Hindi 80 120
11" | English 40 360
12" | Psychology 75 100
12" | Biology 50 110
Ans X1 173:138
V2 265:159
< 3 369:141
< 4 275:139
Question ID : 9489113191
Option 11D : 94891112764
Option 2 ID : 94891112763
Option 31D : 94891112761
Option 4 ID : 94891112762
Status : Answered
Chosen Option : 2
Q89 F ¥ TP F IWR, B g BT F 30T @ IS o Fr TEIT FAROF A2
Pl
; Pass % of | No. of Failed |
ol B i Students Students
10" | Maths | 65 105
10™ Hindi 80 120
11™ | English 40 360
12" |Psychology| 75 100
(12" ] Biology | 50 | 110 |
Ans x . .
v . FATEATT (Psychology) 3T &8 (Hindi)
X 2 FafaATa (Biology) 3T Faifasa (Psychology)
X 3. FAITESTT (Psychology) 3T a1fora (Maths)
X 4 &8 (Hindi) 3 #1ifdra (Maths)
Question ID : 9489113192
Option 11D : 94891112766
Option 2 ID : 94891112765
Option 31D : 94891112768
Option 4 1D : 94891112767
Status : Answered
Chosen Option : 1




Q.90 faw = Fu= (Y AR FRO) B wEEE v d T wEitn wEe s9gET et & 9

Ans

EaiE |

BT (A): HMerels 07 W T B E
FROT (R): & & F a¥sw 9% T8 §

X1 A 3R R 2= 3@y g
V2 A 30T & R R T &

X3 AR R EE @ § 3R R, A &1 W == g

X 4

A AR R 2= @ew § g R, A #r @ zarea @

Question ID :
194891112723
194891112722
194891112724
194891112721
: Not Answered
Chosen Option :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

9489113181

Q.91

Ans

T 71T Fuet W =R #fTw 3 ag fifew & & 1 aromt # ¥ FiE-r anon, Faa 7 SR 3

U
Fo &=, Fre §
w37 AR el arge #
TT TS, Hor Bl
RO
A FT e, Fae oo §
B.3T wwedl, e 8 ¥
C.go &=, awizar §
D.Fo urgY, T §

V1D

X
oo >

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

9489113179

194891112715
194891112713
194891112716
194891112714
: Answered

Chosen Option :

1




Q.92 fu a1v et # ¥ 30 MERFT TAE F 997 H o HEAtar@s ol § wea-few (2) F wE w

3T Hera &Y

3,4, 8 26, 122,77

Ans X1 760
V2 722
~ 3 360
X 4180

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113186

94891112744
94891112743
94891112742
94891112741
Not Answered

Q.93 frdr dar & 55 T & ow 3 ¥ Rufee G o &, & ag ofionE 80 #F AT & O e &

Y T AT AT G §| T TEA A B

Ans X1 44
<2 45
v 90
< 4 60
Question ID : 9489113187
Option 11D : 94891112748
Option 2 ID : 94891112747
Option 31D : 94891112746
Option 4 1D : 94891112745
Status : Answered
Chosen Option : 3
Q.94
fefaf@a aviarer sgFa @1 9o HifFw
A, AC, DAD, FEE, JACK,
Ans X1 SMELL
< 2. ARRIVAL
# 3. FATHER
v 4 RIDE
Question ID : 9489113202
Option 11D : 94891112806
Option 2 1D : 94891112808
Option 31D : 94891112807
Option 4 1D : 94891112805
Status : Answered

Chosen Option : 4




Q.95 Rr 71v Rerent F ¥ 37 GEAT & T4 Sfaw = BT ded F mea-fREs (7) § T o 37 g B

/21 43

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 9489113201

1 94891112801
194891112802
194891112803
194891112804
: Not Answered
Chosen Option :

Q.96 16 wefral #1 T dfea &, o9 WA@T F G HT & T FANS A S ¥, o 9 9w ffrw 7d

Ans

T 9T g S g1 A ae R @ sedh oF TRty s e

X7
< 2 ot
Vo gdt
X4 108

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:
12

Chosen Option

9489113203
94891112812
94891112810
94891112811
94891112809
Answered




Q.97 fzr 71t Fuat W FER ffw #k g7 AT & v av Gt & @ #la § s 7 9w @ =g

Ans

L

EIEN

T 4T F §, g T @
wfr 7 e E

PreeR:

1. 7o T, & 8
2. gafr F1e, I F
3. |efr T, 39

X Faer 3 3T 1
X2 Fga 13k 2

X3 Faer 2 3 3
v+1,2 3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113196

94891112783
94891112784
94891112782
94891112781
Not Answered

Q.98 ofx cPHUDQ = 6 3T BOY = 6 &, af FUNDAMENTAL T v Beedt & & fFas sey greme

Ans

X116
X2 27
Vs 3

X411

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

9489113174

94891112694
94891112696
94891112693
94891112695
Not Answered




Q.99 R 7w et § ¥ 37 T F 0T Hriaw o Feaila avh F wea-feT (7) § T 9w e

TR Bl
13, 28, 58, 7, 238
ans X1.116
v'2 118
X3 119
<4120
Question ID : 9489113185
Option 11D : 94891112737
Option 2 ID : 94891112739
Option 31D : 94891112738
Option 4 1D : 94891112740
Status : Answered
Chosen Option : 2
Q.100 x i
35 TEOT i TgET ffee o eafai@a Aot ¥ gefa A8 £
7, 14, 56, 448, 2688, 26880
Ans 1. 26880
< 2 2688
v 3 448
< 4 56
Question ID : 9489113188
Option 11D : 94891112751
Option 2 ID : 94891112749
Option 31D : 94891112750
Option 4 1D : 94891112752
Status : Answered
Chosen Option: 3
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